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T d\@ Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:
6,168 x 10 = 5,191 x 1000 =
1,421 x 100 = 7,628 x 10 =
8,631 x 100 = 3,199 x 10 =
2,8 x 1000 = 10,965 x 100 =
3,721 % 100 = 5,49 x 100 =
5,829 x 1000 = 2,879 x 10 =
2,712 x 10 = 8,272 x 1000 =
4,697 x 100 = 3,483 x 10 =
4,992 x 10 = 6,175 x 1000 =
6,3 x 100 = 2,553 x 1000 =
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TT@ Dl @ Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:
6,168 x 10 = 61.68 5,191 x 1000 = 5191
1,421 x 100 = 142.1 7,628 x 10 =76.28
8,631 x 100 = 863.1 3,199 x 10 =31.99
2,8 % 1000 = 2800 10,965 x 100 = 1096.5
3,721 x 100 = 372.1 5,49 x 100 = 549
5,829 x 1000 = 5829 2,879 x 10 =28.79
2,712 x10=27.12 8,272 x 1000 = 8272
4,697 x 100 = 469.7 3,483 x 10 = 34.83
4,992 x 10 =49.92 6,175 < 1000 = 6175
6,3 x 100 = 630 2,553 x 1000 = 2553
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